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Chapter 1 Test Review J

Multiple Choice Questions

A baseball coach wants to compare the number of hits by two groups of batters each using a
different type of bat. Which type of graphical display would NOT be appropriate?

A) Paraliel boxplots
B) Dotplots drawn on the same scale

C) Back-to-back stemplots
D) Histogram drawn on the same scale

() Scatterplot

The distribution of the population by age in a particular country is represented by the given
cumulative relative frequency plot.

Population of Country

Cumulative Frequency
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Which of the following statements about the population is true?

“A) The median age is 46 years.
B] The interquartile range of ages is about 27 years old.

@ The mean age is greater than the median age.
D) There are more people older than 65 years of age than those younger than 30 years of age.
E) Seventy-five percent of people are older than 50 years of age.



3. There is presently a dispute about allocation of federal funds to schools in two regions of a large
school district. The director of federal funds, whose spouse works in the West region, has been
accused of providing more money to school in the West region than the East region. Two sets of
data are gathered by the school board: one listing the amount of money allocated per pupil in the
26 West region schools, the other listing the same for the 26 East region schools. The school board
wants to make a graph showing a comparison of the spending between the regions. Which of the
following graphs is inappropriate to make such a compa rison?

((ﬂ-: Scatterplot
B) Parallel boxplots
C) Back-to-back stemplots
D) Parallel dotplots using the same scale
E) Parallel histograms using the same scale

4. The display below shows the cumulative relative frequency histogram of scores from the 20-
question math placement exam taken by 40 freshman upon entering a high school.
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Which of the following is a correct statement based on the information in the display?

‘A) The median score is 30.

'B) Most students scored above 50.

£) No one scored 35 on this test. 3L9;-»:-f%

D) About four times as many students 30 than 20.
@ There were about equal numbers of students with scores between 50 and 60.



5. A statistics class randomly surveyed 200 boys and 200 girls at their school and asked each
respondent how many movies they saw in theaters over summer break. The results are shown in the
frequency table below.
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Which of the following graphs is appropriate to compare the number of movies seen by boys and
girls over summer break?
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6. The parallel boxplots below represent the amount of money collected (in dollars) in a 1-day
fundraiser from each of 16 boys and 16 girls in a certain neighborhood in town. Which of the
following is known to be true about the data by looking at the plots?

Fundraiser Amounts (3) ; Box Plot ]:]

Boys

Girls

A) The boys collected more money than the girls.
@ The median of the amounts the girls collected is larger than the median of the amounts the boys
collected.
C) The distribution of the amounts the boys collected is fairly symmetric.
D) The interquartile range of both distributions is the same.
E) There is less variability in the amounts the girls collected than the boys.

7. A study was done to explore a link between a particular medication prescribed to pregnant woman
and the incidence of a certain medical condition in newborns. Records of 952 recent newborns and
their mothers were examined. The following table shows the results of the study.

| Mother took medication?

Yes | No Total
T 1 =
i Yes 21 Al 2454*¥ by
Newhorn :
huis I No ' 57 Cg?) 1 Hou L\" W pRe
condition? | . W
i | Total l 78 | 8§74 952

Which of the following best describes the association between mothers-to-be taking the medication
and the presence of the condition in newborns?

A) There appears to be no association since the condition was present in newborns of mothers that
either took or did not take the medication.
’”5) There appears to be no association since the condition was present in about the same
proportion of newborns of mothers that either took or did not take the medication.
C) There appears to be no association because more newborns of mothers who did not take the
medication had the condition than newborns of mother who did take the medication.
D) There appears to be no association because more newborns did not have the condition than
those who did.
E) There appears to be an association because the condition was present in newborns of mothers
who took the drug.



8. The salaries for an electronics company were posted in their annual sales report for all stockholders.
The president of the company makes the most money. His salary was mistakenly shown to be
$25,000 less than it actually is. Even with the mistake, his salary is still higher than anyone else’s.
Which statistic did not change after the mistake was corrected?

A) Standard deviation
B) Mean

@ Median

D) Variance

E) Range

9. The segmented bar graphs shown below summarize a survey of high school students about their
favorite genre of novel. Based on the graphs, which of the following cannot be justified?
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A) For every male surveyed that preferred a mystery, about four males preferred adventure.
B) A greater proportion of males surveyed preferred adventure than females.
C) Females surveyed prefer mystery to either adventure or science fiction.
D) About half of males surveyed prefer science fiction.
@ Approximately twice as many males as females surveyed prefer science fiction.



10. In which of the following distributions is the value (mean-median) likely to be the greatest?




11. The populations of two large private schools were studied, Hillside Academy and Franklin School.
The graph shows the cumulative percentage of students in the two schools, both of which offer
grades kindergarten through 12" grade. (On the graph, kindergarten is noted as grade 0).
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Which of the following statements is a correct conclusion based on the gra ph?

A) More students attend Franklin School than Hillside Academy.

B) Franklin School has more 12" grade students than kindergarten students.

C) About half of the combined school population is at second grade and below.

@ Eranklin School students are on average in earlier grades than students at Hillside Academy.
E) The number of students at Hillside Academy varies greatly from grade to grade.



Free Response Questions

1. Male and female heights (in cm) are given for two high school basketball terms.

Male 169

170 | 170 | 173 | 174 | 175 | 178 | 180 | 183 | 185 185 | 191 | 185

Female | 163 | 168 | 172 | 173 | 175 | 175 | 178 180 | 180 | 183 | 187 | 188

A) Construct parallel boxplot of the data.
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B) Construct back-to-back stem-a nd-leaf plots if the data.
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Compare the distribution of the heights of male and female basketball rlayers. _
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2. You suspect that there is a relationship between teenagers’ preference in movies and their
preference in pizza. You ask 110 students at your school to choose between three movies and three

pizza types. Here are the results.

Pizza Preference

| ' | Pepperoni | Meatball | Mushroom
| Menin Black [T ¢t a3 18 95
Movie Preference }__13 Big Lebowski | 8 5: 16 11 35
Monsters, Inc. | 15 { 2 ,' 13 _?_Q__
11O

A) Calculate the marginal distribution of-meviepreferemaes.of movie preference in percents.
Men in blach * HI*L
B1g Lebowshi : 33°/.
Monsters Inc.s 971°/-

B) Find the conditional distribution of pizza preference for each movie preference, in percents.
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C) Sketch a segmented bar graph for the three conditional distributions in B.
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D) Write a brief description of what the conditional distributions in B and C tell you about the

relationships between these variables. .
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